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Lösungen 
 

Aufgabe 1: 
  
 1.1. k1 = 0,72  k2 = 0,28 
 
 1.2. φ1 = 5,56 V  φ2 = 8,77 V  φ3 = 20 V 
 

1.3. I = 8,88 mA 
  P = 7,51 mW 

 
 
Aufgabe 2: 
 

 2.1. 
2

nAs 1
D(r) 259,3

rm
m

= ⋅
 
 
 

  
r

1 kV 1
E(r) 29,28

rm
m

= ⋅ ⋅
ε  

 
 

 

 
 

r3 ≤ r ≤ r4 4r(r) 14,64kV ln
r

 
ϕ = ⋅  

 
 

r2 ≤ r ≤ r3 3(r) (r ) 4,93kVϕ = ϕ =  

r1 ≤ r ≤ r2 2r(r) 4,93kV 7,32kV ln
r

 
ϕ = + ⋅  

 
 

r ≤ r1 (r) U 10kVϕ = =  

 
 
   

 D
nAs /m²

 E
kV /m

 
kV
ϕ  

r2 6,48·104 1830 4,93 
r3 5,18·104 2928 4,93 

 
 
 
  

 
 
 
 
 
 
 
 
 
 
 

2.2. Up2 = 2,1 kV 
 
 
 
 

Administrator
Zur Veröffentlichung
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Aufgabe 3: 
 

3.1. f = 62,5 Hz 
 
3.2. î = 0,32 A 

 
 
 
 
 

3.3. î = 1,12 A 
  
3.4. î = 2,88 A 

 
 
Aufgabe 4: 
 
 4.1.  
 
 
 
 
 
 4.2.  
 
 
 
 
 
 
 
 
 
 
 
 
   
  Reihenschaltung:   
   
  Î = 0,5A·e-j30° 

 

  ÛR = 49,5V·e-j30° 

 

  ÛL = 49,5V·e j60° 
 
 
 
 
  Parallelschaltung: 
   
  Û = 70V·e j15° 

 

  ÎR = 353,6mA·e j15° 

 

  ÎL = 353,6mA·e-j75° 
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4.3.1. CK = 4,02 µF  
 
 
 
 
 
  
4.3.2. CK = 8,04 µF 
  
 
 
 
 
 
 
4.4.  


